[4] IV-UG-Eco-C,

Write short notes on any fwe of the following : 2018
a) Price leadership by dominant firm Full Marks - 80
Time - 3 Hours
b) Cartels The figures in the right-hand margin indicate marks
¢) Signalling. Answer all questions from both groups
6. Explain how firm's equilibrium in labour employment | Gromp - A
is achieved ? 1 L. Answer any fen of the following within two sentences
OR each ; 2% 10
Write short notes on any fwe of the following : | a) Shiftin Supply Curve
a) Labour Union and wage . b} Shortrun
b} Causes of wage variation ¢) Elasticity of Supply
¢) Derived demand.

d} Economic efficiency
¢} Normal price
f) Factors of Production
K41-0.5 oa | g} Condition for profit maximisation
,' h) Price discrimination i

' K41 [Turn Over



[2]
i) Product differentiation
i) Supply curve of labour
k) Innovation

1} Monopoly in labour market.

Group - B
. Explain the factors which are responsible for shiftin
Demand Curve, 12
OR

Write short notes on any fwo of the following :

a) Long run supply curve of the constant cost
industry.

b} Producers Surplus

¢) Price controls and shortage,

. What are the characteristics of perfect competition
market 7 Show how a firm attains equilibrium under
perfect competition. 12

OR

[3]
Write short notes on any twe of the following :

a) The marginal condition of efficiency in
production of Pareto Optimality.

b) Cooperative Statics

¢) Factor prices in general equilibrium model.

. Itis not always true that a monopoly firm earns super

normal profit in short run, explain with diagrams. 12
OR

Write short notes on any #we of the following :

a) Conditions of price discrimination

b) Sources of monopoly

c} Second degree price discrimination,

Explain how price and output is determined in
Bertrand's model. 12

OR

[Turn Over




[ 4]

6. Explain in detail Keynesian theory of Income and
Emplovment determination. 12

OR

Describe the Reformulated theory of Quantity theory
of Money given by Milton Freudman,

K-54-0.5 o [

IV-UG-Eco-C,

2018
Full Marks - 80
Time - 3 Hours
The figures in the right-hand margin indicate marks

Answer all questions from both groups

Group-A

1. Answer any fen of the following in two sentences
each : 2x10

a) Stock market

by Derivative market

¢) Current Account of BOP

d) Visible and invisible items of BOT

e) Devaluation

f) Two basic requirements of Harrod-Domar Model
Define Solow Model

h) Explain Golden Age of Robinson

K-54 [Turn Over




[2]
i) Balanced Budget
i) Revenue Deficit
k) BankRate

1)  Aggregate Demand,

Group - B

. What is Financial Market ? Discuss the various

functions of Financial Market, 12
OR

Describe in brief the objectives of Asset Portfolio
Management of the Commercial Bank,

Explain Disequilibrium in the Balance of Payment and
the measures to correct it, 12

OR

What is Fixed Exchange rate and Flexible Exchange
rate. Distinguish between them,

4.

E-54

[3]
Critically examine Harrod-Domar model of
growth, i2
OR

Answer any fwo of the following :
a) Romer model
b) AKModel of Economic Growth

¢) Robinson Model of Economic Growth.

What is Fiscal Policy ? Discuss the various objectives
of Fiscal Policy. 12

OR

Answer any fwo of the following :
a) Crowding out in Economics
b) Instruments of Monetary Policy

¢) Built-in-Stabilizer.
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IV-UG -Eco-Cm

2018
Full Marks - 80
Time - 3 Hours

The figures in the right-hand margin indicate marks

Answer alf questions from both groups

Group-A

L. Answer any fen of the following in two sentences
each 2x10

a)
b)
c)
d)
e)
f)

g
h)

K-67

Principles of Exclusion
Marginal Social benefit
Marginal social sacrifice
Public Finance

Private Finance

Revenue Expenditure
Canon's of Economy

Displacement effect

[Turn Over




[2]
i) ImpactofTax
j)  Incidence of Tax
k) Balanced Budget
I)  Sinking Fund.

Group - B
- Define Public goods and Private goods. Distinguish
between Public goods and Private goods, 12
OR

Discuss the Rationality behind the Government
intervention into the Public life.

. Explain the various causes of the Growth of Public
Expenditure in the Recent times. 12
OR

Ability to pay is by far the best principle of taxation -
Explain.

[3]

" Explain in detail Peacock and Wiseman hypothesis

of Public expenditure.

. What is Budget ? Discuss the various kinds of

Budget. 12
OR

Distinguish between Balanced Budget and Unbalanced
Budget. Explain in detail about Balanced Budget
Multiplier.

- What do you mean by Burden of Public debt ? Discuss

the different types of Burden of debt. How these
Burden be shifted ? 12

OR

What is Debt Management ? Discuss the Debt
Management mechanism of Union of India,

. _ K-67-0.5 oo
4. Explain the various canon's of Taxations. 12

OR



[ 4]

6. Critically appreciate W.B. Yeats' 'Sailing to
Byzantium', 12

OR

Discuss the binary opposition in Yeats' 'Leda and the
Swan', :

K-40-0.3 00

IV-UG-Eng-C,

2018
- Full Marks - 80
Time - 3 Hours
The figures in the right-hand margin indicate marks
Answer all questions from both groups :

Group-A

1. Answer any fen of the following : 10 = 2
a) How is Mrs. Dalloway a modernist novel ?

b) Examine the significance of modernism in
literature 7

¢) Define Postmodernism ?
d) What is a primary critique of Postmodernism ?

e¢) How does postmodernism differ from
modernism ?

Y InHeartof Darimess, how is Kurtz arepresentative
of Marlow ?
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g) Who is the Oedipus character in the novel
Sons and Lovers by DH Lawrence.

h) What is the 'best' and 'the worst' in the poem
"The Second Coming' ?

i) What is the main idea in 'The Second Coming' ?

i} What does the word 'artifice' mean in the poem
'Sailing to Byzantium' ?

k) What picture is created by the use of the word
'tattered' in the poem 'Sailing to Byzantium' by
W.B. Yeats 7

1)  Which line sums up the nature of J. Alfred
Prufrock's past life in The Love song ?

Group - B
. Discuss in detail the implications of Post-
modermnism. 12
OR

Describe the feminist movement in the early
20th Century.

B

[3]
"Racism is an underlying theme in Joseph Conrad's
Heart of Darkness". Discuss. 12
OR

Describe the role of women in Conrad's Heart of
Darimess.

Give a note on the Oedipus complex as exemplified
in D.H. Lawrence's Sons and Lovers, 12

OR

Present your views with a psychoanalytical and
feminist approach to D.H. Lawrence's Sons and
Lovers.

Give a defail description of social oppression in
Virgina Woolf's Mrs. Dalloway, 12

OR

Describe the role of Individual and society in Virgina
Woolf's Mrs. Dalloway.,

K40 [Turn Over
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6. Write a note on Horace's tribute to his father in
Satire 1.4. 12

OR

Critically analyse 'Philomela’ Book VI.

K-530.3 00

IV-UG-Eng-C,

2018
Full Marks - 80
Time - 3 Hours

The figures in the right-hand margin indicate marks

1;

Answer all questions from both groups

Group -A
Answer any fen of the following : 2% 10
a)  Whatis Satire ?
b) Who is Achilles' mother ?
c) Who are the two beautiful women that are
captured as war prizes ?
d} Who accompanies Choysesi's back home ?
e} What is Oedipus' initial attitude towards the
crowd that has gathered ?
f) 'Who speaks for the people of Thebes as their
leaders ?
[Turn Over
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g) Write in brief the role of slave in Platus'
Pot of Gold,

h) How did Pyramus and Thisbe communicate
before they decide to elope 7

i) According to Ovid's metamorphoses, what was
Nature bofore Creation ?

j)  Why did the parents of Pyramus and Thisbe try
to prevent their relationship ?

k) What does Zeus' attitude about Lycaon's crime
reveal about the development of Greek religion ?

1) Which animal sparks the tragedy of Pyramus and
Thisbe ?
Group - B

. Define 'Comedy' in detail, 12
OR

Write what you know about 'Satire',

[ 34
3. Examine the role of Gods and Goddesses in
The Iiliad. 12
OR

Enumerate the salient features of an epic with
reference to The Hliad.

. Discuss 'Oedipus the King' as an Aristotelian tragedy

with examples from the play. 12
OR

The most effective form of discovery is that which is
accompanied by reversals, like the one in Oedipus'.
Comment on the plot of the play in the light of this
remark.

. What are the different attitudes to women and

wealth in Platus' The Pot of Gold ? lllustrate from
the text. 12

OR

Comment on Platus' treatment of slavery and freedom
in The Pot of Gold.

[Turn Over
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2018
Full Marks - 80
Time - 3 Hours

The figures in the right-hand margin indicate marks

K-55

Answer all questions from both groups

Group-A
. Answer any fen of the following : 2x10

a) Write the name of two historians of the Akbar's
time.

b) When and between whom the battle of Ghagra
was fought.

¢) What was the result of the second battle of
Panipat.

d) 'What was the childhood name of Shershah.
Where and when he was born,

e) Who was Shaikh Mubarak, Name the Decree that
was drafted by him.

f)  Name two Hindu scholars who participated in the

religious discussions held at Ibadat Khana.
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[2]
g) Which battle forced Humayun to leave India for
Persia.
h) Write the names of two Hindu ministers of Akbar.
i}  Who built the Agra Fort.

i) Who led the Mughal Army in the battle of
Haladighat and who lost the battle ?

k) Write the names of two important ports of.the
Mughal period.

1) Whatdo you mean by Suba. Into how many suba
the empire of Akbar was divided.

Group - B
. Give an account of the Persian literary sources of the
Mughal Indian History. 12
OR

Give an account of the foreign account that help in
reconstructing Mughal history.

_ Give an account of the career and achievements of

Babur as the founder of the Mughal empire. 12
OR

[3]

Evaluate the administrative and revenue reforms of
Shershah Suri.

. Give an account of the Rajput Policy of Akbar. 12

OR

Describe the provincial administration of Mughal
empire under Akbar.

. Explain in brief the land revenue administration of
" Akbar. 12

OR

Give an account of the Overseas trade during Akbar's
rule.

. Describe the factors that influenced Akbarto develop

a liberal attitude in matter of religion. 12
OR

Evaluate the contributions of Akbar to the realm of
Indian Architecture.

K-550.7 0a4a




[ 4]
b) Background of the Non-Cooperation Movement

¢) Historical developments leading to Quit India
Movement.

Describe the causes responsible for the Partition of
India. 12

OR
Write notes on any fwo of the following : 6x2

a)« The Indian National Army and its role in the
Freedom Movemen.

b) The spread of Quit Indian Movement

¢) The Cripps Mission and its Failure.

K-80-0.7 ano

IV-UG-Hist-GE-B,

2018
Full Marks - 80
Time - 3 Hours
The figures in the right-hand margin indicate marks

Answer all questions from both groups

Group-A

Write short notes on any fen of the following ;
10 = 2

a) TheBatile cfKhanwes

b) Infallible Decree

c) Mir Zafar

d) RaniLaxmibai

e} Wood's Despatch

f)  Woomesh Chandra Banerjee
The Surat Split

h) Chouri-Choura incident

K-80 [Turn Over
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i) DandiMarch

i) The Second Round Table Conference
k) Cabinet Mission

1) Rasa Bihari Bose

m) Mohmmed Ali Jinah.

Group - B

. Give an account of the Religious policy DfAkbar. 12
OR

Write notes on any fwe of the following : 6x2

a) - The First Battle of Panipat

b) Deccan Ulcer Killed Aurangzeb - Justify

¢} Matrimonial Alliance with the Rajputs and its
impact on the life of Akbar,

. Discuss the causes and effects of the Battle of

Buxar. 12
OR

K80

[3]
Write notes on any five of the following : 6 %2
a) Factors leading to the Battle of Plassey
b) Merits of the Subsidiary Alliance

c) Application of the Doctrine of Lapse.

Describe the reforms of Lord Willaum Bentick, 12
OR

Write notes on any fwo of the following : 6 x2 _

a) Military causes of the Revolt of 1857

b) Reforms of Dalhousie

¢) Results of the Revolt of 1857,

Describe the factors responsible for the growth of

National Consciousness in India. 12
OR
Write notes on any fwe of the following : 6x2

a) Contributions of the Moderates to Indian
Nationalism

[Turn Over
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IV-UG-ODL-C,

2018
Full Marks - 80
Time - 3 Hours

The figures in the right-hand margin indicate marks

Answer all questions from both groups

Group-A
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2018
Full Marks - 80
Time - 3 Hours

The figures in the right-hand margin indicate marks

Answer all questions from both groups
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IV-UG-ODI-GE-B,

2018
Full Marks - 80
Time - 3 Hours

The figures in the right-hand margin indicate marks
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IV-UG-Pol.Sc.C,

2018
Full Marks - 80
Time - 3 Hours

The figures in the ri ght-hand margin indicate marks

i

K43

Answer all questions from both groups

Group - A

Answer any fen of the following within two sentences
each : 2x10

a)
b)

c)
d)

e)

f)
g)

h)

What do you mean by Political Socialisation 9
What is Political Participation ?

What is Voting Behaviour 1

What is Mixed Representation 9

Give an example of authoritarian regime found
in contemporary world.

What is the composition of Rajya Sabha ?

What are the features of parliamentary
government ?

What are the features of federal system 2

{ Turn Over



[2]

i) Give an example of ethnonationalism found in
contemporary.world.

J)  What is one party dominant political party
system 7

k) To which political parties ABVP and NSUI is
affiliated ?

1)  What do you mean by Quasifederal system 9

Group - B
What is Political culture ? Discuss the Politica]
culture of USA and UK, 12
OR.

What do you mean by Political development ? Discuss
the theories of Political development,

What is Proportional Representation 7 Discuss its
advantages and disadvantages. 12

OR

"Political Participation is the end result of the process
of Political Socialisation”, Do youagree ? Give your
comments,

[3]

4. Discuss the role of ligislature in modern state. Is

legislature declining ? Give your comments, 12
OR

Give a comparative analysis on the role of Presidential
executive and Parliamentary executive in modern
democratic state,

Discuss the advantages and disadvantages of
Federalism., 12

OR

.What is Nationalism ? Discuss the factors of

nationalism.

What is a Political Party system ? Discuss its kind
and merits and demerits, 12

OR

What is a Pressure Group ? Discuss its role in a
modern state,

K-43-0.7 00



IV-UG-Pol.Sc-C,

2018
Full Marks - 80
Time - 3 Hours

The figures in the right-hand margin indicate marks

Answer all questions from both groups

Group -A

1. Answer any fen of the following within two sentences
each : 2x10

a)
b)
c)

d)

2
h)

K-56

Give two determinants of Public Policy in India.
What is Independence of Judiciary ?

When was Panchayatiraj Institution was
introduced in Odisha ?

What is the composition of Panchayat Samiti ?
What is long term budgeting ?

What is Lokayukta ?

What is Right to food security 7

What is the objective of National Health
Mission ?

[Turn Over




[2]
i) Whatis the importance of RTI Act 2005 ?
j)  Givetwo significani objectives of social welfare.
k) What do you mean by POSDCORB ?

1) What is the role of Comptroller and Auditor
General of India ?

Group - B

- What do you mean by Public Policy ? Discuss its
characteristics and relevance in amodern State 2 12

OR

Discuss the role of legislature in framing public
policy in India.

What do you mean by Democratic Decentralisation ?
Discuss its relevance and kinds in India. 12

OR

Give a critical assessment on the functioning of
Panchayatiraj Institution in India,

[3]

4. What is a Budget ? Discuss its significance in a

modern Welfare State, 12
OR

How 'Budget' is prepared in India ? Discuss its various
stages.

- What do you mean by E-Governance ? What are its

challenges in India ? 12
OR

What is Lok Pal ? Discuss its relevance and
achievements in Indian Context.

. Discuss the significance and achievements of

MNREGA Act in India, 12
OR

What is Right to Education ? What are the
programmes undertaken by the Government. to realise
the goal in India ?
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2018
Full Marks - 80
Time - 3 Hours
The figures in the right-hand margin indicate marks
Answer all questions
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IV-UG-Sans-C,

2018
Full Marks - 80
Time - 3 Hours
The figures in the right-hand margin indicate marks

Answer all questions
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It is unethical to engage children in hard work.
Due to poverty, many guardians are unable to feed
sufficient food to their children. Although free
education provided by the government many children

leave their school before completing education.
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Having considered this problem in respect of primary
education, provision has been made for the students
for the mid-day meal.
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